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I
.

What is the goal of DCTCP ?

↳ Increase perf for DCs ( latency
,

.
. - )

↳ No new
hardware

2
.

How does DCTCP sister from TCP?

↳ ECN - early congestion feedback

z
.

why does DCTCP Asfa from Tcp?

↳ Characteristics of DC traffic 2.Start the
net traffic.



What makes a great research result ? (Spielman)

I
.

Beautiful theory .

2
.

Works in practice .

3
.

Solves a problem that people care about
.



Types of flows in DC
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what does DCTCP do to fix?

SWITCH switch

#pliant congestion notification .

K

↳ set bit on packet is
↳ Difference w/ prior at

:

Switch sets bit early
-

SENDER
-

- If stat getting ECN-

sloudowngraduelkyglgNo.myTCP → Really slows down → sharply



Why doesn't this work on Internet ?

- Need to modify both ends and switch ?

- Convergence time depends on RTT

b
- feedback is too slow
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Dctcp

I
.

What is the good of Doop?

↳ improve
on
TOP in Dcs low latency

,
high throughput

2
.

How does
DOTCP differ from Tcp ?

↳
"

More clever use of explicit congestion notification

(ECN)

g
.

why does DCTCP differ from Tcp?

b.Take advantage of unique properties of DC
0.1 ms RITT

{ uso ms RTT



What makes a great reseat result ? (Spielman)

i
.

Beautiful theory

2
.

Vorbis in practice

3
.

Solves a problem
that people care about
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Types of flows
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DCTCP switch

-
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Switch DDDDDj
→ Early notification of

Tcp

congestion .

Norml : wait under buffer full ILM
DCTCP

⇐mTaeps estimate of queue length =L
↳ adjusts tx rate accordingly

How is this dustcart from normal Tcp
?

↳Tcp : Cut window size in half

4 Quantitative approach



Why does it this work on Internet ?

* Scale .
. . .

Convergence time = time before every endpoint tx

at
"

right
"

rate

↳
Depends on RTT DC 0.1 ms

Net so ms

- Deployment
- Lesssun?

-


